Run 5216 quartetwise, Asyms0 (Raw): All
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Run 5216 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

cuanchwisa kaami lasd asymi
— _ Entries 17947
[ Mean 3.825
— Std Devw 441 .1
[ Ly c oy oo oo o oo b by
0 10000 20000 20000 40000 50000

gHelNSamples0}/|{PosHelAcel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.000000)



3000

2500

2000

1500

1000

500

Run 5216 quartetwise, Diffs0: All
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Run 5216 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 5216 quartetwise, NegHelAccO/NSamplesQ: All
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Run 5216 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
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Run 5216 quartetwise, NegHselAccl/NSamples: Beam ON, Laser OFF
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Run 5216 quartetwise, Sums0: All
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Run 5216 quartetwise, Sums0: Beam ON, Laser ON
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